N
UMS Series

device mounting shelves universal mounting shelf

< Designed to mount small devices

< Mounting pattern accommodates virtually

any hole pattern
< Includes counter-sunk holes to match popular
Extron® devices . _..//.:-?&\
. . wad 2 &
« Filler panels to cover unused spaces available B3 ?\//
L AR
4 =~

UMSFP1-1/2
UMS1-3.5 \
UMSFP1-1/4
UMSFP1-1/8
|
EIA/TIA compliant 19” rackshelf with __” (refer to chart) depth shall be Middle Atlantic Products
model #UMS1-__. UMS shelf with filler panel kit, which shall include 4 panels in 1/2, 1/4 (two sizes),
1/8 shall be model UMS1-__ K (refer to chart) UMS shelf shall be 1 rackspace (1.75”) high. Weight
capacity shall be 25 Ibs. UMS shelf shall include 3/6” length flat head screws, 16 gty #4, and 4 qty
#6, for the purpose of securing components to the shelf. UMS shelf shall satisfy the requirements
of RoHS EU Directive 2011/65/EU compliant. UMS shall be manufactured by an ISO 9001 and I1SO
14001 registered company. UMS Shelf shall be warranted to be free from defects in material or
workmanship under normal use and conditions for the lifetime of the product. = Optional Filler Panels
- UMSFP1-1/2 -1/2 rack
Customizable specification clips available at middleatlantic.com - UMFSP1-1/4 — 1/4 rack

- UMFSP1-1/8 — 1/8 rack

EIA/TIA COMPLIANT & f_\f‘%\ g
@' PASS
PORT.

What great systems are bull on” | 77
Middle Atlantic Products

Abrand of [llegrand’ middleatlantic.com | middleatlantic.ca

96-01190 /rev ¢ / 2-7-17



UMS Series

device mounting shelves basic dimensions

all dimensions in inches unless otherwise noted [all dimensions in brackets are in millimeters]

17.62 [448)

0C—00 C O o [ S e
oo () (e
o oo —oo oo oo o
upn oo o UcococolUUe
o
[ Y e e e} e Y e e e Y

depth COC—D 00 0 C—0 O O

o o[ e
o [S o) [T} o

°

I

.38 [10] L
P K
! 18.35 [466] ‘ ot
19.00 [483]
filler panels
UMSFP1-1/4 UMSFP1-1/8
’éﬁﬁfg} J 4.35
5 | [
T

j

HJ P 1.00 [25]

what great systems are built on.”

L
J L1.75 [44)

Abrand of [llegrand’

— le— .69 [17]

38 [10]

5 /a 121[3]
A

63 [16]

f

|-.17[4 .60
1

Y | s

| Me—— ?

X
| |
72 L T
J [18] J 318 L3519
94 [24]

UMSFP1-1/2

8.72 ‘ ﬁ
221] ‘ 1

.57 [14]
le—— 2.37 [60] ——=~—113
[29]
Kit “A” Hardware
Part Number Part Number Depth Included
3/16 length flat head
UMS1-3.5 UMS1-3.5K 3.5 [89] screws, 16 #4 & 4 #6
3/16 length flat head
UMS1-5.5 UMS1-5.5K 5.5 [140] screws, 16 #4 & 4 #6
UMS1-11.5 UMS1-11.5K 11.5 [292] 3/16 length flat head

screws, 16 #4 & 4 #6

Note: Kits include one shelf and one of each size filler panels

217
[55.2] h {’

1.67
[42]

1.67
[42.3]

T
HJ Pl.oo [25]

T

®

Middle Atlantic Products
middleatlantic.com | middleatlantic.ca



